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Sedudion

Quiz #10:
Phys142

A person is standing on a pier with a loaded spear gun very close fo the surface
of an exfremely placid pond containing very clear water, Seven fish are lined
up (fish A through G) from the shore at a depth of Tm where fish "B" Is directly
undefneath the gun. All the fish are separated by an equal distance of 0.5m.
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(o) (4 pts) Which of the fish (A-G) can see the gun? Show your work, and

name all the fish that can see the gun!
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the person's eye Is very close to the gun)? Name all the fish the person
can see, '
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(©) (3 pls) If the person wants to shoot fish "C" and compensate for refraction,

should he aim directly at the apparent location of the fish, or should he
aim higher or lower? Explain.




